
 

WorksheetCloud: MEMORANDUM 
Grade: 3 
Subject: Maths 
Topic: Number Mixed Bag 3 

 

1. Calculate the answers to the tables problems in the table. 

 
 

2. Fill the missing numbers in the number lines below.  
                 

                              
                          
 
 
 
 
 
 
 
 
3. Number Patterns: complete these number patterns. 
 
a. 7    10   13   16    19    22    25    28    31    34    37    40 
 
b. 4    9    14    19    24    29    34    39    44    49    54    59 

1. 7 x 4 = 28 11. 11 x 4 = 44 

2. 5 x 3 = 15 12. 10 x 3 = 30 

3. 12 x 4 = 48 13. 8 x 4 = 32 

4. 11 x 3 = 33 14. 7 x 3 = 21 

5. 4 x 4 = 16 15. 6 x 4 = 24 

6. 2 x 3 = 6 16. 9 x 3 = 27 

7. 5 x 4 = 20 17. 2 x 4 = 8 

8. 3 x 3 = 9 18. 4 x 3 = 12 

9. 9 x 4 = 36 19. 12 x 3 = 36 

10. 6 x 3 = 18 20. 10 x 4 = 40 

4 

40 80 

5 10 

20 40 

30 60 

8 20 24 12 16 28 32 36 40 44 

200 240 120 160 280 320 360 400 440 

25 30 15 20 35 40 45 50 55 

100 120 60 80 140 160 180 200 220 

150 180 90 120 210 240 270 300 330 



 
c. 2    3    5    8   12    17    23    30    38    47    57    68    80     
 
d. 35    33    31   29    27    25    23    21    19    17    15    13 
 
e. 10    15    11    16    12    17   13    18    14    19    15    20     
 
 

4. Time: what is the time on these clocks? Ignore the second hand. 
 
 
 
 
 
a. 5o’clock 5:00            b.10 to 2   1:50           c.10 past 10   10:10      d. 20 to 1  12:40 
 
 

5. Money Word Problems: calculate the costs below. 
a. An ice-cream costs R19,50 and a cold drink costs R14,50. 
Johan buys one of each. How much does this cost? 
 
 
 
 
 
b. I buy a cap for R36,50 and slops for R85,50.  
 

i. How much money do I need in total? 
 
 
 
 
ii. If I pay with a R200,00 note, how much change do I get? 
 
 
 
 

 

R19,50 + R14,50         R19,00 + R14,00 = R33,00 

50c + 50c = 100c = R1,00 

R33,00 + R1,00 = R34,00 

 

R36,50 + R85,50     R 36,00 + R85,00 = R121,00 

50c + 50c = 100c = R1,00 

R121,00 + R1,00 = R122,00 

R200,00 – R122,00 

R200 – R100,00 = R100    R100,00 – R20,00 = R80,00     

R80,00 – R2,00 = R78,00 


